Solving Equations Review Day 2 Name Period

1. Complete all the odd problems except #9 the word problem — Show work on a separate paper
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Solve each equation or problem and find your solution in the answer column.
Write the letter of the answer Ih each box that contains the exercizse number.
i the answer has a . shade in the box instead of writing a lstter in it
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The Sun Spa charges annual dues of $125 plus $10 per hour
to use the facilities. The Moon Spa charges annual dues of
$230 plus 87 per hour to use the facilities. For what number
of hours would the two spas charge the same total amount?
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5x +2(11 - 4x) =82 + x 16 — 5(3t — 4) = 8(—2t +11)

Answers 10-18 :
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7(7c +1) —4c=13(3¢c - 2) 12(5 + 2y) =4y — (6 — 9y)
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3g-16g=7 +2(-8q-8) @7 14 -3(5t-12) =1 - (20t +1)
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Simon says: “Five times my age 4 years ago is the same
as 3 times my age in 2 years.” How old is Simon now?
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2. Create an equation with no solutions

-3x+7= X+ 4x+ 2) = X +

3. Create an equation with infinite solutions

-3x+7= X+ 4x+ 2) = X +

4. Create an equation with one solution

-3x+7= X + 4x + 2) = X +

Indicate if the following equations have one solution, no solutions or infinite solutions.

5. -5(x + 2) =-5x + 10

6. 2XxX+7=3x+7

7. 2X+3x+6=5x+6

8. 3(x—6)=3x-18

9. 4(2x-3)=8x-3




